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#lettestxy=(x=y,x==1y)
val test :’a -> "a -> bool * bool
# test11;;

- : bool * bool = true, true

# test 1.0 1.0;;

- : bool * bool = true, false

# test “string” “string”;;

- : bool * bool = true, false

# test (ref 1) (ref 1);;

- : bool * bool = true, false
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# (fun x -> x) = (fun x -> x);;

Uncaught exception:

Invalid_argument “equal: functional value”.
# (fun x -> x) == (fun x -> Xx);;

- : bool = false

#letf = (fun x -> x) in test x x;;

- : bool = true, true

#letr = (ref 1) intestrr;;

- : bool = true, true

# let (x, y) as pair = (ref 1, ref 2) in x (fst pair);;
- : bool = true, true
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structure (1)

n ZEPELS t@**d)‘skﬁ
= {5: MultiSet (lecture4-1.ml)
« NERDZEICIT . KELETI7OTER

# MultiSet.empty;;
- : "a MultiSet.set = MultiSet.Leaf
# let a = MultiSet.add MultiSet.empty 5;;

val a : int MultiSet.set = MultiSet.Node
(5, MultiSet.Leaf, MultiSet.Leaf)

# MultiSet.mmember a 5;;
- : bool = true
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structure (2)

= open: structure = TF<
= structure ADEFEZ . BUTIZ7OTLEA

# open MultiSet;;
# add empty b;;

- int MultiSet.set = MultiSet.Node
(5, MultiSet.Leaf, MultiSet.Leaf)

# member (add empty 5) 10;;
- : bool = false
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= sighature % structure [CEFE
# module AbstractMultiSet = (MultiSet : MULTISET);;
module AbstractMultiSet : MULTISET
# let a = AbstractMultiSet.empty;;
val a : ‘a AbstractMultiSet.set = <abstr>
# let b = AbstractMultiSet.add b 5;;
val b : int AbstractMultiSet.set = <abstr>
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signature DEF (2)

# open AbstractMultiSet;;

# let a = add (add empty b) 10;;

val a : int AbstractMultiSet = <abstr>

# AbstractMultiSet.remove _top;;

Unbound value AbstractMultiSet.remove_top;;
# MultiSet.remove _top a;;

This expression has type int AbstractMultiSet.set
but it is used with type ‘a MultiSet.set
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functor & signature (2)

® R R R
# module AbstractStringSet =
AbstractSet2(OrderedString);;
module AbstractStringSet : sig ... end

# let sa = AbstractStringSet.add
AbstractStringSet.empty “OCaml”;;

val sa : AbstractStringSet.t = <abstr>
# AbstractStringSet.member sa “ocaml”;;
- : bool = false
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functor & signature (3)

# module NCStringSet = AbstractSet2(NCString);;

module NCStringSet : sig ... end

# let sa = NCStringSet.add NCStringSet.empty
"OCaml”;;

val sa : NCStringSet.t = <abstr>

# NCStringSet.member sa “ocaml”;;

- : bool = true

# AbstractStringSet.add sa “ocaml”;;

This expression has type NCStringSet.t =
AbstractSet2(NCString.t) but is here used with type
AbstractStringSet.t = AbstractSet2(OrderedString.t)
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saea3 (f511)

# module NCStringAssociation = Association(NCString);;
module NCStringAssociation :
Sig
type key = NCString.t
and ‘at = ‘a Association(NCString).t
val empty : ‘at
valadd : ‘at-> key->‘a->‘at
val remove : ‘at-> key -> ‘at
val get : ‘at-> key -> ‘a
exception Not_Found
end
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saea3 (f512)

# open NCStringAssociation;;

# let sa = add empty “C” “/* */":;

val sa : string NCStringAssociation.t = <abstr>
# let sa = add sa “OCaml” “(* *)";;

val sa : string NCStringAssociation.t = <abstr>
# let sa = add sa “Perl” “#";;

val sa : string NCStringAssociation.t = <abstr>
# get sa “ocaml”;;

- 1 string = “(* *)”
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